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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 3283 3.6 0.7 4 90.2 100

2a 3268 1.9 1.1 3 64.9 99.5
2 b 3282 4.4 1.4 6 72.7 99.9
3a 3277 0.8 0.4 1 80.2 99.8
3 b 3275 1.4 0.8 2 71.1 99.7
3 c 3233 1.7 0.6 2 86 98.5
3 d 3174 3.9 1.5 6 64.3 96.7
4 a i 3269 1 0.2 1 96.1 99.5
4 a ii 3261 0.7 0.5 1 66.1 99.3
4 b 3267 1.5 0.7 2 75.9 99.5
4 c 3271 6 2 10 60.2 99.6
5 3262 6.4 1.9 10 63.9 99.3

6 a i 3279 0.9 0.3 1 89.8 99.8
6 a ii 3271 0.8 0.4 1 78.3 99.6
6 b 3267 4.6 1.4 6 76.8 99.5
7 a i 3263 1.8 0.6 2 88.4 99.4
7 a ii 3237 1.6 0.6 2 79.4 98.6
7 b 3210 3.1 1.1 4 78 97.8
7 c 3220 4.5 1.3 6 74.2 98
8 3267 7.2 1.6 10 71.8 99.5
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2. (c)  Discuss two ways the manufacturing business may respond to these 
variances.  [6] 


Band 
AO2 AO3 AO4 


2 marks  2 marks 2 marks  


2 


2 marks 
Good application to 
the context and/or the 
data 
 
There is direct and 
clear reference made 
to the data in both the 
responses 


2 marks 
Good analysis of the 
responses the business 
could make to two of the 
variances 
 
Arguments made are well 
developed, with logical 
chains of reasoning shown  


2 marks 
Good judgement is made 
of the solutions 
suggested  
 
The candidate makes 
partial judgements with 
some attempt to support 
their evaluation 


1 


1 mark 
Limited application to 
the context and/or the 
data 
 
The response is 
mainly theoretical, 
with limited reference 
made to the context 
and/or the data given 


1 mark 
Limited analysis of the 
ways a business may 
respond to the variances 
 
Arguments are brief and 
undeveloped.  
 
The response will focus on 
one variance 
 


1 mark 
Limited judgements of 
the proposed solutions 
are made  
 
Unsupported and limited 
judgements are made 
and are often likely to be 
superficial 
 
The response will focus 
on one variance 


0 0 marks 
No valid application  


0 marks 
No valid analysis  


0 marks 
No valid evaluation  
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Indicative content:  
 
Responses to an adverse sales variance:   
• Increasing demand through an advertising campaign, however this will increase costs 


and there is no guarantee it will be successful.  
• Reducing the selling price, but the product would need to be highly elastic for the 


increase in demand to be large enough to create an overall increase in revenue. This is 
unlikely for job production as made to order products can usually command a higher 
price.  


• Ensuring that the ‘place’ element of the marketing mix is working effectively and the 
product is available to purchase when the customer wants to buy it. However, this is 
reliant on other factors such as delivery or the willingness of tertiary sector businesses to 
stock their products, and as it is job production is likely to have long lead times.  


 
Responses to a favourable raw materials variance:  
• Whilst there is no immediate need to respond to this as it is currently a favourable 


variance, the business may want to continue to work with the current suppliers, or they 
may have trained staff effectively to work efficiently with the materials with less waste.  


• Strong answers may connect the fact that perhaps the firm has a favourable variance 
here because they sourced cheaper raw materials, which could have been a cause 
behind the adverse sales variance.  


 
Responses to an adverse labour variance: 
 
• Invest in training to encourage employees to work faster, which is especially relevant 


within job production, which may reduce the need for employees.  
• Look to invest in some machinery to speed up production and reduce the need for 


labour. However, this may not work for certain job production businesses, there would be 
a short-term cost implication of this investment, and it could lead to lower morale if jobs 
were put at risk.  


 
Credit any other relevant point.  
 
N.B If candidates have suggested to improve the budgeting procedure so it is likely to be 
more accurate, this can only be credited once, not as a response to multiple variances.  
 
OFR applies. 
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Sticky Note

This response was awarded the full 6 marks available. The first paragraph of the response clearly links to the manufacturing
business using job production methods and therefore likely to have highly skilled employees. This was awarded good application
as the response was clearly related to this context. The analysis includes good use of key terms such as rationalise to develop the
response and why it is necessary and coupled with the second suggestion of increasing marketing to address the revenue variance
was awarded good analysis. In terms of evaluation, there are several pieces of this throughout. The first paragraph concludes with
a negative impact of the improvement method and is also applied to the context which is deemed to be good judgement. Simple
phrases like ‘if successful’, allow for some judgement that the marketing campaign may not work, and a brief conclusion showing
good judgement of addressing the cause of the issue first is a nice attempt at supported evaluation.
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Sticky Note

This script was awarded 5 out of 6 marks. The first paragraph is linked to the context as it discusses the manufacturing process.
The second paragraph also refers to the likelihood that this business will work on business-to-business transactions. Together,
these context references were awarded good application. For analysis, the script was also awarded 2 marks (good). Both of the
suggestions are developed, and the second argument suggests using trade shows as a method of raising awareness, which was
also a nice link back to the context showing good analysis. Limited evaluation was awarded for the last sentence where it judges
the suggestion would only work if the company had the capacity utilisation to do so, but it wasn’t felt there was enough
judgement of both solutions given to award   2 AO4 marks.
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Sticky Note

This response was awarded 2 out of 6 marks. 1 AO2 mark was awarded. Whilst the response does make some reference to the
financial values of the variances from the context for both sales revenue and labour costs, there was nothing to link the response
to the manufacturing context or any other information from the stem, so it was deemed to have limited application. The analysis
of both of the responses to the variances was deemed as limited and awarded 1 AO3 mark. Whilst it appears there has been a lot
written on the responses, the main points are not developed and are repeated. For example, in the first paragraph, the suggestion
is to increase prices, but then it does not go onto explain this, and the other suggestion of a cheaper supplier would not impact
the revenue variance so was not credited. Again, the analysis in the second point is repetitive. The response does not give a way
of reducing labour costs, and then workers earn less and the company makes more profit, doesn’t really link back to the variance.
Overall, it was felt this was limited analysis. No evaluation was given in the response as no judgements of the solutions was made,
so no AO4 marks were given.
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Budgeted
(£)


Actual
(£)


Variance
(£)


Sales revenue 1 200 000 (i) 180 000 Adverse


Raw materials 200 000 180 500 (ii)


Labour 230 000 240 250 (iii)


2. The table below shows a comparison between budgeted and actual figures for a small
manufacturing business that uses job production methods.


(a) Outline what is meant by an adverse variance. [2]


(b) (i)	 Calculate the actual sales revenue. [1]


Calculate the variances and state whether they are favourable or adverse.


(ii) Raw materials variance. [1]


(iii) Labour variance. [1]
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(c) Discuss two ways the manufacturing business may respond to these variances. [6]
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5. (b) Discuss how the Ansoff Matrix may be of use to Müller UK & Ireland. [10] 


Band 
AO2 AO3 AO4 


3 marks 3 marks 4 marks 


3 


3 marks 
Excellent application of 
how the Ansoff Matrix may 
be of use to Muller 
 
The candidate makes 
consistent and direct 
reference to the context 
and to the data provided 
that is embedded 
throughout the whole 
response 
 
Application to the context is 
used in the development 
and the judgement within 
the response  


3 marks  
Excellent analysis is 
made of how the 
Ansoff Matrix may 
be of use to Muller 
 
The analysis is 
detailed and logical 
and considers how 
the Ansoff Matrix 
may be of use to 
Muller  
 
At least 3 strategies 
are referenced 


4 marks  
Excellent evaluation of 
how the Ansoff Matrix may 
be of use to Muller 
 
Clear reference to the 
context is given to support 
the judgement 
 
Relevant judgements are 
made with qualifying 
statements used to build 
an argument 
 
There is likely to be an 
overall conclusion 


2 


2 marks 
Good application to the 
context 
 
There is some direct and 
clear reference made to the 
context of Müller 


2 marks 
Good analysis of 
how the Ansoff 
Matrix may be of use 
to Muller 
 
Arguments made 
are well developed, 
with logical chains of 
reasoning shown 
 
At least 2 strategies 
are referenced  


2-3 marks 
Good evaluation of how 
the Ansoff Matrix may be 
of use to Muller  
 
The candidate makes 
partial judgements with 
some attempt to support 
their evaluation 
 
There is likely to be some 
reference to the context to 
support their judgement for 
top marks in this band 


1 


1 mark 
Limited application of the 
given data and to Müller  
 
The response is mainly 
theoretical, with limited 
reference made to the 
context 
 
Reference to the context is 
likely to be superficial 


1 mark 
Limited analysis is 
made of how Muller 
may use the Ansoff 
Matrix  
 
The arguments 
made are likely to be 
brief and 
undeveloped  
 
 


1 mark 
Limited evaluation is made 
of how Muller may be of 
use the Ansoff Matrix 
 
Unsupported and limited 
judgements are made and 
are often likely to be 
superficial 
 
The evaluation is likely to 
be one-sided and 
unbalanced 


0 0 marks 
No valid application 


0 marks 
No valid analysis  


0 marks 
No valid evaluation 
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Indicative content:  
 
Market penetration is the first strategy that could be of use to Müller, by aiming to sell more 
of its existing products to its existing customers. This is the least risky strategy but if the 
market is saturated this may be an extremely difficult task. In the yoghurts and desserts 
section of the business it is likely that this is extremely competitive with shelf space within 
supermarkets at a premium. However, where the market is less saturated such as in the 
home delivery business as it could be assumed that large companies such as Müller may 
dominate using Milk & More to help the traditional milkman.  
 
Product development is bringing new products to the existing customers. It appears from 
the case that Müller have done lots of this in the past and developed many product lines 
within the dairy market. Whilst this is good as the new lines thrive on the recognised brand 
name, encouraging supermarkets to stock these may be difficult.  
 
Market development appears to have been implemented through the use of Milk & More as 
it is selling its existing products but in new ways through the traditional milkman. Whilst this 
strategy can sometimes be deemed as risky due to the lack of knowledge of the new market, 
this is likely to be something that a large firm like Müller can use its resources to approach, 
therefore reducing the risk. However, with supermarkets known for driving down the price of 
milk by reducing the margins for dairy farmers, this may be a hard market to be price 
competitive in.  
 
Diversification is the most risky strategy that Müller could use. There doesn’t appear to be 
much evidence of this strategy being used so far, as the company’s ventures are all 
focussed closely around the dairy industry. However, following a strategy of diversification 
can spread risk across new markets, and as Müller already operates throughout Europe it is 
likely they could easily venture into a new market, providing they are happy to take on the 
additional risk and do sufficient research.  
 
Overall, the Ansoff Matrix is a great tool that businesses can use in order to identify and 
evaluate options for growth. It is extremely useful as it forces managers to take into account 
the risk of different strategies, but it does not take into account the actions of competitors 
and other external forces. In this scenario, it would be difficult to judge the best strategy as 
this would depend on the level of risk they want to take, the finance available to invest in the 
strategy and the external context.  
 
Credit any other relevant point.  
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Sticky Note

This script was awarded 10 out of 10. The overall structure is clear and easy to follow. It starts with a brief introduction outlining the purpose of the model, visits all 4 strategies of the matrix in turn, and then brings the response to a conclusion.
For AO2, the response makes consistent and direct reference to Muller throughout the whole response. Each strategy not only had an example of how Muller could implement it, but there were also regular references to the context to explain why these
strategies would be suitable. For example, in the product development paragraph, the response discusses that new products would be more successful because customers already have confidence purchasing from them. Additionally, in the market
penetration paragraph, there is discussion about branded products such as Muller warranting a higher price than lots of cheaper non branded versions. This level of context was excellent and awarded band 3.
The analysis is detailed and logical for all strategies, giving through descriptions of how the strategy can be implemented and the
benefits and drawbacks of it to Muller, for example reference to a new distribution channel in the market development paragraph, but then analysing the drawback of this being that there may be a shortage of products in supermarkets if they cannot keep up with production. As this analysis is detailed for all 4 strategies, again band 3 was awarded.
AO4 was also awarded band 3 and given 4 marks, as not only was it consistent throughout the whole response, but there was also lots of references to the context to support this judgement, which is excellent. Judgement of the level of risk of each strategy is made, and some recommendations of how to implement effectively are given – for example recommending lots of market research before entering the vegan market. Another approach to AO4 is shown in the market penetration paragraph by
considering the likelihood that it will only have a short-term impact before the price is raised later. The response finishes with an overall summary with a brief recommendation of how to use the matrix effectively (coupling with market research). Holistically, the regular use of context-based judgement made the response excellent.
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4



Sticky Note

This response scored 4 out of 10. The response begins with a list like method of defining each of the strategies. This would have
counted as AO1, but there were no AO1 marks in this mark scheme, as that was awarded in part a. AO2 in the response was limited. There is some reference to current Muller products, and the fact that they are a European country, but this is only limited
application as a basic example of how the strategy could be implemented. There is no further use of the context or reference to Muller as a company or the dairy market, which stopped the response being awarded band 2 for AO2. AO3 was deemed as good and awarded 2 out of 3 marks. There is some development to the points, especially in the first argument which discusses increasing the target market and the impact this would have on the financial state of the company. However, this is the only strategy analysed, as the last paragraph does not really analyse diversification, and isn’t detailed, which is why it was not awarded
3 marks. For AO4, the evaluation is extremely limited. It was deemed that the last section of the response was an overall summary of the usefulness of the matrix, and credit was given for the fact that the model would allow them to make better strategic
decisions as some limited and unsupported evaluation.
















3
AO1-1
AO2-1
AO3-1



Sticky Note

In the first paragraph of this response, the candidate is very generically talking about technology as a whole concept and how it impacts on Lloyds, therefore no AO1 marks were credited. It discusses the reduced number of staff required per branch which is some low level AO2 and then some limited analysis by referring to the reduction in costs. The second paragraph introduces the idea of mobile tablets being used which is taken directly from the case, but as it is then used to explain the consequences of this, it is valid for an AO1 mark. The rest of the sentence is again some analysis, but deemed to be at limited level. No credit was awarded for the last paragraph as it wasn’t linked to Lloyd’s decision to launch micro branches, and in this answer a conclusion was not necessary. Therefore this response was awarded 3 out of 6, as all assessment objectives were deemed to be limited. 
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5. Müller UK & Ireland is owned by a German company, which employs 24 000 people throughout
Europe. In the UK, Müller UK & Ireland develops, manufactures and markets a wide range of
branded and private label dairy products made with milk from more than 1 650 British farms.
(Private label means that Müller produces products on behalf of other companies who put their
own label onto the products).


The Müller brand is the 8th most chosen brand in the UK, picked from shelves more than
217 million times each year.


Müller UK & Ireland comprises three business units:


• Müller Milk & Ingredients is Britain’s largest producer of branded and private label fresh
milk and other dairy products, with a network of dairies and depots servicing customers
throughout the country.


• Müller Yogurt & Desserts is the UK’s leading yogurt manufacturer responsible for major
brands like Müllerlight, Müller Corner and Müller Rice. It produces chilled desserts and
yoghurts for other large companies.


• Milk & More delivers daily essentials to more than 500 000 homes in England, via
a network of 53 local fulfilment centres. The milkman is arguably the original home
delivery service and Milk & More is ensuring that this great British tradition continues.


Source: https://www.muller.co.uk/about-muller/muller-uk-ireland/ 


(a) Outline what is meant by market development according to the Ansoff Matrix, giving an
example from the text above. [2]


(b) Discuss how the Ansoff Matrix may be of use to Müller UK & Ireland. [10]







12


(A510U20-1)© WJEC CBAC Ltd.12


Examiner
only


5. Müller UK & Ireland is owned by a German company, which employs 24 000 people throughout
Europe. In the UK, Müller UK & Ireland develops, manufactures and markets a wide range of
branded and private label dairy products made with milk from more than 1 650 British farms.
(Private label means that Müller produces products on behalf of other companies who put their
own label onto the products).


The Müller brand is the 8th most chosen brand in the UK, picked from shelves more than
217 million times each year.


Müller UK & Ireland comprises three business units:


• Müller Milk & Ingredients is Britain’s largest producer of branded and private label fresh
milk and other dairy products, with a network of dairies and depots servicing customers
throughout the country.


• Müller Yogurt & Desserts is the UK’s leading yogurt manufacturer responsible for major
brands like Müllerlight, Müller Corner and Müller Rice. It produces chilled desserts and
yoghurts for other large companies.


• Milk & More delivers daily essentials to more than 500 000 homes in England, via
a network of 53 local fulfilment centres. The milkman is arguably the original home
delivery service and Milk & More is ensuring that this great British tradition continues.


Source: https://www.muller.co.uk/about-muller/muller-uk-ireland/ 


(a) Outline what is meant by market development according to the Ansoff Matrix, giving an
example from the text above. [2]


(b) Discuss how the Ansoff Matrix may be of use to Müller UK & Ireland. [10]
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6. (a) Evaluate the usefulness to the stakeholders of easyHotel of having a mission 
statement.  [10] 


Band 
AO1 AO2 AO3 AO4 


2 marks 2 marks 2 marks 4 marks 


3 


   4 marks  
Excellent evaluation of 
the usefulness of the 
mission statement to the 
stakeholders of 
easyHotel  
 
Clear reference to the 
context is given to 
support the judgement 
 
Relevant judgements 
are made with qualifying 
statements used to build 
an argument 
 
It is likely that an overall 
judgement is made   


2 


2 marks  
Good 
understanding 
of mission 
statements  
 
The response 
will consider a 
range of 
stakeholders 


2 marks 
Good application to the 
context  
 
There is some direct 
and clear reference 
made to the context of 
easyHotel and the 
given mission 
statement   


2 marks 
Good analysis of 
the usefulness of 
the mission 
statement to a 
range of 
stakeholders 
 
Arguments made 
are well 
developed, with 
logical chains of 
reasoning shown 


2-3 marks 
Good evaluation of the 
usefulness of the 
mission statement to the 
stakeholders of 
easyHotel 
 
The candidate makes 
partial judgements with 
some attempt to support 
their evaluation  
 
There is likely to be 
some reference to the 
context/mission 
statement to support 
their judgement for top 
marks in this band 


1 


1 mark 
Limited 
understanding 
of mission 
statements  
 
Understanding 
is superficial 


1 mark 
Limited application 
given to the mission 
statement and/or to 
easyHotel   
 
The response is mainly 
theoretical, with limited 
reference made to the 
context 
 
Reference to the 
context is likely to be 
superficial  


1 mark 
Limited analysis 
is made of the 
usefulness of the 
mission 
statement  
 
The arguments 
made are likely 
to be brief and 
undeveloped and 
for a restricted 
number of 
stakeholders   


1 mark 
Limited evaluation of the 
usefulness of the 
mission statement to the 
stakeholders of 
easyHotel  
 
Unsupported and limited 
judgements are made 
and are often likely to be 
superficial 
 
The evaluation is likely 
to be one sided and 
unbalanced 


0 
0 marks 


No valid 
knowledge  


0 marks 
No valid application  


0 marks 
No valid analysis  


0 marks 
No valid evaluation  
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Indicative content:  
 
A mission statement is a broad statement of an organisation’s aims and objectives. It will 
guide the everyday operations and decision making of a business.  
 
Managers are likely to be very significantly affected as it should guide their everyday 
decisions and actions. It gives clear ideas on the core service of easyHotel with a focus on 
price and in a great location. This should also create cohesiveness in the organisation and 
keep everyone working towards the same aims. However, managers will have to use this in 
line with other information such as aims, objectives and strategy to give clearer guidelines on 
the day to day running of the company.  
 
Owners/shareholders – as this is an Ltd, it is likely that some of the owners/shareholders 
will also be senior managers within the business and therefore the level of usefulness for 
them is likely to be similar to the points in the paragraph above. Ultimately a mission 
statement is designed to give transparency to investors, so they know how their capital will 
be put to use.  
 
Employees may find the mission statement useful because it should provide them guidance 
with their day-to-day tasks. However, it could be argued that as it is more of an aspirational 
statement, that employees may not deal with it on a day to day basis.  
 
Customers will be indirectly affected if the goals in the mission statement are achieved, but 
due to the nature of the way a mission statement is used they are unlikely to be aware of it. 
However, this mission statement is clearly focussed around the service provided for 
customers and so if they were aware of it, it should help them to understand what the 
business is about.  
 
Suppliers – the mission statement of a firm should give suppliers a key idea of the purpose 
of the business. The statement says that they want to offer the service at a great price, and 
so this should make suppliers aware that they are likely to negotiate low margins on their 
products and services. However, this is true of all the easy brands and so suppliers are likely 
to understand this anyway.  
 
Possible themes for evaluation:  
• Overall, as the mission statement in theory should guide the direction and decisions of a 


business it is likely to have some impact on all stakeholders, even if indirectly.  
• However, internal stakeholders are impacted more than external. 
• It all depends on whether the mission is truly lived out in all decisions and not just a 


virtuous wish that is forgotten about. 
 
Credit any other relevant point.  
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Sticky Note

This response was awarded 7 out of 10. AO1 was awarded ‘good’ and given 2 marks due to a clear definition at the beginning and then reference later on to how the managers may use this mission to break down goals for the employees. This was deemed to show a good understanding of how mission statements are used within a business to guide decisions.
In terms of AO2, application was deemed to be limited and awarded 1 out of 2 marks. There was some reference made to the
consumers expectations being quite low of easyHotel which was awarded limited application. No credit was given to the paragraph about the owners as it was not deemed to be a valid use of a mission statement to judge the success of the different
sections of the business. Additionally, no reference was made to the actual mission statement of easyHotel.
Analysis is good, with the use to different stakeholders developed. For example, the managers giving clear goals to employees
would improve efficiency and productivity. Then the consequence even further is to judge if goals are not being met. All of this analysis centred on the mission guiding the overall goals, and so it was deemed that this was a good level of analysis.
AO4 was also awarded 2 marks and was deemed to be ‘good’. Judgements were made and there was some attempt to support
these, more successfully so in some cases rather than others. For example, the counter argument for the managers paragraph was seen to be limited as it is unlikely that managers would not set goals for their employees. However, stronger support was given to
the judgement that shareholders would more likely be concerned with financial information rather than how they achieve the profits. An overall conclusion is offered with a brief recommendation of making sure they are carefully drawn up, showing some good judgement. However, there was no context-based judgement given which prevented higher AO4 marks being awarded.
















Sticky Note

This response was awarded full marks. Many responses to this question did not show a clear understanding of how a mission
statement is used internally within a business to guide decision making and strategy. However, this response clearly showed this
throughout. In addition to a clear definition at the start of the response, there was a reference about shareholders using it to
understand the general strategy the business wishes to follow, and for employees when making operational decisions. Therefore,
the response was deemed to show a good understanding of mission statements.
Application was marked as good. As well as a reference to the actual mission statement given in the customer section, there were
also references made to the type of worker a hotel is likely to have and as they are mainly likely to be on low wages would not be
interested in the mission statement. In addition, a couple of references were made to the budget element of easy Hotel.
Analysis was also marked as good, as for each of the stakeholder groups discussed, the impact that the mission statement would
have on them was developed with reasoning shown. For example, shareholders use it to guide their decision making in meetings,
and employees use it to inform operational decisions.
Finally, AO4 was awarded 4 marks and classed as excellent. The evaluation was consistently shown throughout in several different
forms. Judgement on the level of impact on the stakeholder group was given, for example as they are likely to be vague, the
impact on employees would be negligible. Additionally, comparison between the level of impact was given by stating it is more
useful for managers than employees. Another approach to AO4 was discussing what else the stakeholder may find more useful,
for example shareholders are more likely to be interested in financial information than mission statements. Finally, an overall
judgement is given and supported, that they are not really useful, and then what it depends on for it to be used effectively.
Therefore, consistent judgement is made throughout the whole response that is given in context so AO4 was awarded full marks.
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9
AO1 - 1 
AO2 - 2 
AO3 - 3 
AO4 - 3



Sticky Note

Although this is a relatively strong response, the candidate has only been awarded 1 of 2 AO1 marks due to not showing clear knowledge of rationalisation and its purpose. There was good application shown to the context by using the impacts given in the stimulus material, but to move into Band 3, the response should be more contextualised to the banking industry. Both the analysis and evaluation were awarded 3 marks in this response. It was felt the analysis was excellent, with logical paragraphs examining the impact on the stakeholder, and often considers multiple impacts on each group. This answer shows AO4 throughout the whole response, regularly using words such as short term, long term, significantly, in particular etc. The overall conclusion summarised effectively the impacts on the stakeholders and based it depending on their position in the hierarchy which was a good judgement to make. Additionally, in the last line a recommendation was made to implement rationalisation effectively, it was important to first conduct some research – a good judgement to make. 
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6. easyGroup Holdings Ltd is a company owned
by Sir Stelios Haji-Ioannou that controls the
‘easy family of brands’ which is most famous
for its airline – easyJet. However, several other
brands operate under this company including
easyPizza, easyMobile and easyHotel.


easyHotel is the owner, developer, operator and franchisor of its hotels. Its strategy is to target
the ‘super budget’ segment of the hotel industry by marketing clean, comfortable and safe
hotel rooms to its customers, and currently has 37 hotels in the UK and Europe, 25 of which
are operated by franchisees.


easyHotel’s mission statement is ‘to make being there accessible for everyone. We aim to
provide a great place for a good night’s sleep, in a great location, at a great price. Nothing
more and nothing less!’.


In line with its ambitious growth strategy, easyHotel continues to target carefully selected
locations to expand its portfolio of self-managed and franchised hotels. It believes the
opportunity to develop its portfolio in key European cities is significant and its newly established
European development team has been focussed on pursuing opportunities in these markets.


For self-managed hotels (hotels owned and run by easyHotel) easyHotel believes there is
potential for 12 000 more hotel rooms primarily in the UK, France and Spain with an additional
opportunity for 15 000 more franchised hotel rooms across the UK, Europe and the Middle
East.


(a) Evaluate the usefulness to the stakeholders of easyHotel having a mission statement.
[10]











